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(1) #cosx—1=xsina(x) , ﬁ¢|a(x)|<%, M4 x — 0, a(x)id:

(A e x =BT /.
(B) L x ARBrHIE T3 /).
(©) 5 x FPHEAZEG I TT /.
(D) 5xEMKILT .

(2) WEH y=f(x) i cos(xy)+Iny—x=17#zE, M limn{f{%)—l} =

n—>0

(A 2.
(B) 1.
> -1.
(D) 2.

sinx, 0<x<r,

2, T<x<2rm,

(3) BH f(x)={ L Fe= [ fode .

(D) x =7 ERRELF (x) I ER A W7 A
(B) x =7 /ZRRELF (x) [mT 2 )b s
(C) F(x)1Ex=m ESHAT] F.

(D) F(x)TEx=rx kb 5.

lla_l , I<x<e,
(@) s foo =1 sRHBU [ f Codx gt
xIn“!'x ¥ze,
N a<-2.
B a>2.
) 2<ax<0.

M O0<ax?2.
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) z=2 (), tebhms sy, mEZ L E
* yox Oy

(D 2y (xp) -

(B =2yf"(xp) .

) gf(xy).
X

(D —zf(xy) .
x

(6) B D I D = {(x, y)|x” +y* <1} 736 k RIS, 21, = [[ (v —x)dxdy
Dy

(k=1,2,3,4),
(A 1,>0.
(B> I,>0.
(© I,>0.

™ I1,>0.

(1) & A,B,C¥IHnW5ElE, # AB=C, H B, N
(D) 5 C AT MR S55EFE A 14T IR A5
(B) R C 5 s H 55 A 151 R 454
(O P C AT MR A 55 B 14T IR A5
(D) R C 5 A 55 B 15454

1 a 1) (2 00
(8 Hl|a b al|5|0 b O|MBIKTESLELMA:
1 a 1) {000

(A) a=0,b=2.
(B) a=0,b NIEE L.
(C) a=2,b=0.
(D) a=2,b WEEFHL.

. HZ: 9~ 14/, BANE 4 5y, 3 24 0 BRERSESEGKEEME L.
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1

) lim(2 _ ln(l—”)j - »

x—0 X

(10) B f(x)= [ NI=e'dr, My =f(x) MRESx=f (y) 7y =041 5%

dx
dy

y=0 =

(u)&ﬁm@&me%ﬁﬁﬁﬁr:mweG%ses%],ML%H¥EE%WEE

e -

a md T T = A R

12) e PRI = LA R
y=In1+¢

(13) Bfny, =™ —xe™,y, =e" —xe™,y, = —xe”" X I RHEE T IR EM >
TR 3 AR, WA =0,y =1y = _
(14) B A=(a,) RINETIERE, |ANAMGTHR, A4, Na, HREK TR, &

a,+A4;=0 (i,j=123), W|d|=

=, RN 15~23 /M, 3t 94 4. ERHARE ST R E b R RIS IR
ER R S B,

(15) (W45 10 43)

M x =0, 1-cosx-cos2x-cos3x 5 ax" NEMTLI /N, Kn'5a HHE.

(16) (W4 10 43)
1

WD Ly =x>, Bk x=a(a>0) K x4 BRI TIER, V,,V, 5502 D 5% x i,
v HUERs — FI TR NERE R ARL. %5V, =10V, R a [ffE.

(17) (CREEW5 10 57)
BOPCH D B4 x =3y, y=3x Kx+y =8 B, it [ dvdy .
D

(18) (AW 10 43)
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WAL f(x) 7E [ L] ERA 2 S5, B A1) =1 iE8
(1) 1775 E e (0,1), 1543 £1(E) =1+
(ID) f7fEn e (=L, {45 ")+ f'(m) =1.

(19) (AEWH45 10 4)
RETZE X° —xy + 37 =1(x > 0,y > 0) (1 5 B A8 KR R A 10 5 K BE 55 5 B R

(20) (AREW4 11 47)
WEREL f(x) =1nx+l.
X

(D) K f(x) KiR/AME:

(1) B0 {x, ) W2 Inx, +—— <1, TE9 limox, 728, JFRILALIL

n—0
xn+l

(21) (AREW5r 11 57)
Wil LT y =g — S Inx (1S3 <e)
(1) sk L i3
(D) WD RHMA L, Hx = 1,x = e & x WFT BT EET, 5k D 1%L Rk
(22) (AREW55r 11 57)
1 0 1
&A=&»Z}B=& ;)ﬁmb%Mﬁw,ﬁ&ﬁmc@%AC—CA=B,#X%ﬁ

HEEC .

(23) (XE@EW5r 11 47)

B f(x,,x,,%,) =2(ax, +a,x, +a.x;)° +(bx, +b,x, +bx;)” , it

a b,
a=|a, |,f=|b
a, b,

(D UEM =R f R REEEN 2aa” + BB
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(D) #a, B IEZ HYSHRALFR, EW £ 76 E5 A8 F bR 27 + y2 |
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